01.

02.

A square element is subjected to

principal stresses in N/mm? as in

figure. Te intensity of normal

stress o, on plane BD is (0 = 45°)
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Consider the following statements
If there is a state of pure shear tat
a point then

1. The mohr’s circle is tangential to the
y-axis

2. The centre of the mohr’s circle
coincides with the origin

3. Unlike principal stresses are each
numerically equal to t.

4. Principal stresses are alike

Which of the above statements is /are
correct

a. lonly

b. 1and2

c. 2and3

d. 3and4

03. Which one of the following statements

04. In a two-dimensional str

is correct ?

a. Principal stress is defined as the shear
stresses on which the normal stress is
maximum or minimum.

b. The centre of mohr’s circle for a
two=dimensional stress system always
lies in the y-axis (adopting conventional
axes notation)

c. The plane of maximum shear stress is
inclined to the plane of principal stress at
an angle of 45°

d. In case of biaxial state of normal
the normal stress on 45°plane is e
the sum of normal stresses.

esents

The principal s
on a rectangula
in the above figure
normal stress o, on t
plane BE is

a. 125 N/mm?

b. 425 N/mm?

¢. 375 N/mm?

d. 250 N/mm?

06. A rectangular bar of cross- 12. The state of stress on an element
sectional area A is subjected to in plane stress is shown as in the
an axial tensile load P. the figure. ° _,q
maximum shear stress will

occurs on a plane at X° to any
normal cross-section where X" is

a. 90'° if the values of
b. 270
c. 180° 2, both
d. 45°
07. The state o dimensio

stresse
lamina  consts
tensile sss C
and shear e
fmm? w
concrete it’iust imp
- - >
permissi e ten

a concre

element
Which of
the normal

a. 25
b. 20

11. A mild steel bar is subjected to an axial
force P, resulting in an axial stress
o, = 100 N/mm? . What would be the
normal
Stress o, on a plane n-n making an
angle 8= 45° with its axis ?
a. 25N/mm?
b. 40 N/mm?
c. 50 N/mm?
d. 100 N/mm?



